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Sem-IV-EV-AECC(R&B)
(Arts/Sc/Com)

2023

Time -1 hour

Full Marks - 25

Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP - A
Fill in the blanks. (any five) - Mx5
(@) Knowledgeis of an individual.

(b)

(c)

(d)

QP CRAS F648 NI 1

Real education builds

_—

Jeo disl 94 @6Q|

is the real meaning of education.

c2R8 dgia 990 24|

Name any two of the challenges that obstruct the ethical prac-
tices in our educational institutions.

2710 SBIZARERCR 6509 2ARLAER QI 98 AeeIRl cTealed
995 223 AN 29|

RT.0.




Leadership.

. S|

ﬁ.g‘ffo“ S ,m.ﬂg e scope for devel-

~ducation’ ﬂw own words.

LUVIEQ QY€ ’WM
, Y.A
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(b) State the differences between academic qualification and
ability.

JRGIS RSB IR Al FrIcR elday @l | 'j
(c) Define the concept ‘ragging’ in educational institutions.
JRUQAURYFRER ‘QUT’ edlg QU Qe |
(d) Write two sentences of positive friendship.
ARAAR RQE! AVVER AT ARY 6 |
(e) State two traits of leadership.
6RQQR ARG A8 Qdiel |
(f) Mention any two importances of co-curricular activities.

A-Al01ael QIdiaRIon 6aeRId 90 9] AERd @4l

(g) Distinguish between co-curricular and extra-curricular activi-
ties.

QA2-FI0YRA IS° 2GRS-CIOIRF FIULRRIE ARIEA TIdaY @4l |

GROUP - C

Answer any two the questions within 300 words each.  [5 x 2

(a) Real education is not for degree acquisition but for man mak-
ing. Explain.

gqe a9 69l 29n dN 96 QA" ASA SR AR — QUisH
?Q | |

R T.®:
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(b) How to develop interpersonal relation and community life in
Higher Education institution ?

QPN gOVRER UINWRE WIF e AHGlD Feae Fad
AR QAT ?

(¢) Give a note on ethical leadership in academic institution.

AQIIFER 6TOR 690Q AL6R I Fad Fel |

(d) Whatis cheating in Examination ? How can it be checked ?

JQIRIER QAR @6 ? Y2lg FOR F9ad FALINTIGS ?

)
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2023

Time - 3 hours

Full Marks - 80

Answer both groups as per instructions.
Figures in the right hand margin indicate marks.

GROUP - A

, Answer all questions by choosing the correct answer
from the given alternatives. [1 x40

a’[ 1. 1f5"= 125, then the value of 2"~2s

(1 | Wi ()7 24
(i) 3 w4
2. An equilateral triangle has all angles measuﬁng
() 30Y (i) 45°
iy 60° (iv) 75°

3. The side of an equilateral triangle is 1 cm. Then area of the tri-
angle =

V3

(i) T cm
1

4 ‘
(i) o cm?

(iii) —-J—Z—cmz (iv) 1 cm?




[2]

4. The triangle whose two sides are of equal I'ength is called as
triangle. |

(i) equilateral (i) isosceles

(i) right 1 ek g "(iv) n'on’e of these

5. Find the area of _the quare having sides 3 cr.
(i) 6 omy e i (n) 60m
Giy 9cm? | (lv) 9om
6. Flndthemeanofz 8 11 7 i
Gt (n) 9
s - 7 (.v) 14
7. Findthe medlan forthe data 36 53 12 39 47 12.6.
' (l), 36/l (n) 243
(m) 04 0 - (iv) 63 |
8. Acoinis tossed thce Fmd the probablhty bf geﬁang at least one
head. 7 i v
) % . (")% |
(iii) B , i .',(i."_) 1

9. Find the probability of getting an eveh number when a dice is thrown.
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10.

11.

12

13:

14.

0 < Ol
1

(i) 3 (iv) -%

What is the values of (4)% ?

(i) 8 (i) 16

(i) 32 (iv) 64

Which number would replace in the series 192,.6, 122,22 66;
87, ? | "

(i) 51 (i) 101
(i) 201 (iv) 251
Divide 120 into two parts in the ratio 2 : 3.
(i) 48,72 (i) 60, 60.
(i) 70.50 (iv) 80, 40

Express speed 144 km/hr in m/s. _
(i) 10 m/s (i) 15 m/s
(iii) 30 m/s (iv) 40 m/s

Find the median for the set containing quares of all the even
numbers between 1 to 20.

(i) 10 (i) 100

(i) 12 (iv) 144

2.0,



-

el

15, Find the area of the circle having radius 14 ¢m.
(i) 616 cm? (if) 616 cm
(iif) 161 cm | (iv) 161 cm?

16. Find the area of the rectangle having length 6 cm ang breact
2. cm.

(i) 12 cm e (i) 21 cm?
(i 12.cm? (iv) 21 cm
1/ “Evéry intéger is a rational member.”
| (Tru_e'o-r False)

m

18. Find the value -of%-' here m = n.
W0 1
(iii)_ X o Gy
19. Angles greater than 90% are calleq angles.
{i) acute (i) obtuse
(iii) right | (iv) none of these

20. State true or false ;: /0.4 — 0.2.

21. Arrange the following words in a meaningful order -

(1) Grass (2) Curd (3) Milk (4) Cow (5) Butter
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R 28,4, 5 (e 2y 8,4 5, 1

(i) 4,1,3,2,5 (iv) 5,4, 3, 2,1 |
22. Which fraction comes in the sequence —, —z— —5-

32 116" 8

3 W 3

(iii) % (iv) %
23. Solve the series : ELFA, GLHA, ILJA, _ MLNA.

(i) OLPA (i) LLMA

(i) KLMA (iv) KLLA
24. How many terms are there in th_e series v2044208. 245, 5

369 7

Q) 23 (i) 24

(iii) 25 (iV) 26

25. FRUIT : BANANA : : MAMMAL :

(i) LIZARD (i) FISH

(i) PIGEON (iv) COW

P.T.O.




26.

2i

28.

29.

30.

318

- —

[6]

BOOK : READ : : TELEVISION :

(iy WATCH (i) EAT

(i) SLEEP | (iv) WALK

Find 25% of 160,

(i) 50 | (if) 40

(i) 60 (iv) 20

In the series 7, 14, 28, ............ , what will be the 15th term 7
(i) 1792 (i) 2456

(i) 3584 (iv) 4096

Write the relation between speed, distance and time.

(i) -Speed=—————-———D'5‘jcance . (i) Distance = e
| Time , Speed

(iii) -Dis’cénce X Tirﬁe = Spéed (iv) None of these

Find S.I. on % 2000 at ihe rate of interest 10% p.a. for 2 years.
(i) %200 ' (i) ¥ 400

(i) T 600 (iv) 800

Divide 18 by 3./3 . iy

(i) 23 e,

(iif) 33 (iv) 22
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32. Simplify (25) 7% .

e o
0 2z | )=
A :

(iif) 125 (iv) 125

33. Find the circumference of 3 circie of radius 14 cm.
(i) 88 cm? (i) 88cm
(i) 44 cm _ (iv) 44cm?

34. Select a figure from amongst the answer figures which would be
fifth figure to continue the series. |

Question figure

@il )

Answer figure

(2)
() (1) (i) (2)
(i) (3) (iv) (4)

= 10,




37.

35. Which figure can be placed in place ofqu_estion mark

36.

[8]

g,

Problem figures

JIRHEN B

4

Wiie e @)

~'Answer figures /|

P ea el 17T > ey Ol — . 1 19187 R s i 7 55 3
£ 7 / 7 g Wisss VAl & 2 I 52 74

ONOR o <2)

| (m) (3) | (N) (4)

Pomtmg to a photograph Lata says' “He ss the son c)f the only son
of my grandfaﬁher How is the man .n the photograph related to

Latgi:. L iy
(i) 'Brol.thér"f i (u) Eﬂster |
(iiiy Aunt (IV) Unck., i

Ais B's sister. C is B’s mother D is Cs father. E is D's mother.
Then, how is Arelated to D ?

(i) grandfather (i) grandmother

(iify daughter (iv) granddaughter
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38, In a code language if TRAINS is coded as RTIASN, how PISTOL
will be coded in the same language ?

() SITLOP (i) IPSTLO
(i) SIPTLO (iv) IPTSLO

39. If PAINT is coded as 74128 and EXCEL is coded as 93596, then
how would you encode ACCEPT ?

i) 455978 _ (i) 547978
(i) 554078 (iv) 735961

40. Which of the following diagrams indicates the best relation be-
tween Women, Mothers and Engineers ?

() @D | @ ? ~

% e

GROUP-B

Answer all guestions by choosing the correct answer
from the given alternatives. [2x20

41. Gopal's salary is increased from 4 76 000 to* 80 960. Find the
increased %. |

(i) 9 (i) 6
(i) & (iv) 10

RT.Qf



42,

[10]
16 596 s ok ? ,
(i) 96 . L2
(iii)) 120 b (iy) 128 i
. Which digit will appear on the face opposite to the face with num.-
ber 4 ? |
@ 3 T G
(ii)) 5 (¥ Noneofthese
A pipe which is connected tofill a tank is known as

&

&

47.

49.

50.

(Inlet pipe / Outlet pipe)

Find 5% of 580.

. Find the area of a_,square'whose diagonal is 5 cm.

Find the area of the semicircle having radius r = 3 cm.

. Aperson purchased a pen for ¥ 85 and sold itfor< 120. Find his %

of profit.

Find simple interest of ¥ 2500 at the rate of interest 10% per an-
num for 3 years.

Find the value of /78961 .

APB-KNJ-Sem-IV-23-QLT(SEC-2)/500




[11]

51. Acar travelling at a speed of 60 km / hr takes 15 hours to com-
plete a journey. What will be the time taken to complete the same
journey by a train whose speed is 90 km / hr ?

52. In what time will X 3100 amount to ¥ 6200 at 4% per annum ?

53. The product of two numbers is 18 and the sum of their squares is
45. Then find the sum of the numbers.

. State true or false : “Every square is a quadrilateral”.

55. Express 20 km/hr in m/s.

. If “DELHY is coded as “73541 ”-'and""CALCUTTA” as ‘82589662
how can ‘CALICUT’ be coded ? |

G) 5279431 00'5976213f;"
(@) 8251896/ .'qv).8543§91; 
Y Wh.ich number would replace in thé_éérie'sé*s,.’13,20, Ghya 40 ?
i) 29 | i (") 28,,{} g
(i} 27 (i) 26
58. |

Which is the number that comes next in the following sequence :
5,7,14, 16, 32, 34,

(i) 64 (i) 68

(i) 72 (iv) 60

R T.Q,







